
 

 

Collège  De La Salle                                                                           Section du petit primaire  

          Daher                                                                                         2
ème

 primaire –Réponses  

Complète comme dans l'exemple :  

 Nombre de 

lignes 

   équation Nombre de 

colonnes 

équation Matrice 

  

2 

 

4 + 4 = 8 

 

4 

 

2+ 2 +2 +2 = 8 

 

2 x 4 

  

2 

 

2 + 2 = 4 

 

 

2 

 

2 + 2 = 4 

 

2 x 2 

  

2 

 

3 + 3 = 6 

 

3 

 

2 + 2 + 2 = 6 

 

2 x 3 

  

2 

 

1 + 1 = 2 

 

1 

 

2 + 0 = 2 

 

2 x 1 

 

 

 

1 

 

3 + 0 = 3 

 

3 

 

1 + 1 + 1 = 3 

 

1 x 3 

  

3 

 

2 + 2 + 2 = 6 

 

 

2 

 

3 + 3 = 6 

 

3 x 2 

 3 4 + 4 + 4= 

12 

4 3 + 3 + 3 + 3 = 

12 

3 x 4 

 


